Responder Strong Jump Shift
Quiz 10

Your partner has opened 1&; write in your response.

A )

® A4 ® K86
@ KQJT8 @ AJTO
EN 1 — ‘GQ 1 - + AK

& AQT54 & Q952
® AKQJ83 & KQJ

o ¥ KJ985 18 ¥ A8

= ¢3 — ¢ AQJT942

&7 &5
®52 ® AKJ94
¥ AKQJ42 ¥ QJ2

o= < A43 ro=_ < AK9
& Q9 & 75

You have opened, as shown, with the opponents silent, your Partner has made a
Jump Shift. Enter your rebid in the space provided.

e e | orks o

® 332 ® 937

1|10 -P-26-p ®Q986 18-P-20-p @K
. ¢ AQT3 L © A84
& AQ & AQIT52

®T9 &3

16-P-28-P ®AKQ 16 -P-28-P  ®AK4
- * KIT43 _ + K87432
&)32 & K84

'Yy & KQ43

14-P-26-P ©QT97 16-P-20-P @13
*K2 ¢ AQTS

& KJ643 & 98



Responder Strong Jump Shift
Quiz 10

Your Partner opened and the bidding proceeded as shown. Enter your rebid.

s o oo

& AQJTS7 @98
§10-P-26-p ®Q98 14 —P-29-p  ®AKQJ876
S 30-p— *3 INT-P— + A84
& AQT 'Y
® KQJT94 ® AKITS7
16 -P-26-P ®AKQ 19-P-26-p  ®753
INT-P-__ ®K32 INT-P— * AK8
&5 &3
& K4 & KQ4
14—-P-20—P @ AQT9765 16-P-29-P  eKQIT4
286-pP— * A2 26 _p- +T5
& 43 & AQ4

You opened and the bidding proceeded as shown with the opponents silent. Enter
your 3™ bid in the space provided.

T Ty
&5

® K98

10 —P—28-P e 186 —P-20-p e
'M3¢-pP-3@-p T 2NT—P—4®—P * AS2
— & AJ9 — & KQJ2

@94 ® 37
3d ;;T_ PP_ 2;9_ PP v Kas2 ;;T_ PP_ 2;0_ PP v AT876

' ST YF T @ KT32 IR ¢ A8
— & AQ5 —_— & KJ87
e P I 2 & AK4 16 —P—2@—p ® KQ4

S Pz ® 765 ®T4
+AQ 2NT-P—-3NT-P + AQTS

- & J9843 — & Q764



